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HkKBRT Fa 1
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EELT Fa 1
Al (REL] m3 598
PRHE m3 36
BR (RAL] m3 24
“Bius CRAL] m3 584
EET = 1
FEETLE m2 254
iR AIZ m2 241
w®aAV)—F 18-8-25BB m3 4.4
w®IOVY 500 x 500 x 90 m2 26.0
BEY Fa 1
FEKE m 26.0
TR R 1
el R 1
KR (2) Fa 1
EELT Fa 1
PRHE m3 13
BER m3 7
Bt m3 33
EERET Fa 1
BiZmat m2 37
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R m2 37
gy = 1
FEKE m 22
&L = 1
BEE%/KER T =® 1
et m 4
maEk m 2
EEYEE L = 1
EEYEE L = 1
RE&T Fa 1
REEKE = 1
®RE - WE ®500 m 4
REE R T Fa 1
B kAR
BE - HE m2 135.0
@R (BHE) ha 0.1
BRI t 23.3
$hE R Y = 1
&HE = 1
& Hht = 1




= = 5=
ﬁ ==} I:I-I- ﬁ = I$%TFE)
LARL2 | LARLS LNIL4 LAILE ™ HE
iR
(T &) (7 A (#8 A HEREUHERL
BFEKIET

B+ T
TEHI XAMMEEE LY m3 598
R{E XAMMEEE LY m3 36
HER XAMMEEE LY m3 24
v a1 597. 6+36. 3-23. 5+12. 8-6. 9-32. 7 = 583. 6] m3 584

EEI
EmEitE XA EE LY m2 254
RS XA EE LY m2 241
ANIZ
®aALHY— b 1.70 x 26 / 10 = 4.42] m3 4.4
18-8-40BB
EJOowvsy 10.00 x 26 /10 = 26 m2 26.0
500 x 500 x 90
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FHEKE m 26.0
TR m T 1
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f+H T
BEERKER T
Heot m 4.0

500 (H) x 600 (B)

ek m 2.0
500 (H) x 600 (B)

BEmER L XAMEAREZE LY =X 1.0

REBET | REEKE

RE - BE m 4.0
®500
Bk R
HRE - BE 3 x (40+5) = 135 m2 135.0
IR (FHE) ha 0.1
E i 135 / (3.048 x1.524) = 29
29 x 802 / 1000 = 23.3 t 23.3
EiXIERE 2. 6km
B ER
"BE
LEEpiuk 3! il 8000F/m2
{EhmEmiE  969. 25m2
Hif§ 658

f&th¥t 8000 x 0.06 x 65 / 365 x 969.3
= 82,85 H = 1.0
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’ EEm2)| TFEmM3) [WEEm2)] TFEm3) [HEEm2)] 2B (M3)
B : sNo.0 0.0 0.0 0.0
Z : sNo.0+1.90 1.9 0.0 0.0 0.0
B : sNo.0+1.90 2.4 1.4 0.9
Z : sNo.0+2. 20 0.3 2.5 0.7 1.4 0.4 0.9 0.3
B : sNo.0+2.20 2.5 1.4 0.9
Z : sNo.0+6.70 4.5 14.5 38. 3 1.4 6.3 0.9 4.1
B : sNo.0+6.70 14.5 1.4 0.9
Z : sNo.0+7.30 0.6 17.5 9.6 1.4 0.8 0.9 0.5
B : sNo.0+7.30 17.5 1.4 0.9
Z : sNo.0+8.70 1.4 27.4 31.4 1.4 2.0 0.9 1.3
B : sNo.0+8.70 27.4 1.4 0.9
Z : sNo. 0+9.00 0.3 37.4 9.7 1.4 0.4 0.9 0.3
B : sNo.0+9.00 37.4 1.4 0.9
Z : sNo.0+11.80 2.8 66. 6 145. 6 1.4 3.9 0.9 2.5
B : sNo.0+11. 80 66. 6 1.4 0.9
Z : sNo. 0+13. 60 1.8 66. 6 119.9 1.4 2.5 0.9 1.6
B : sNo.0+13. 60 66. 6 1.4 0.9
Z : sNo. 0+14. 60 1.0 65. 2 65.9 1.4 1.4 0.9 0.9
B : sNo.0+14. 60 65.2 1.4 0.9
Z : sNo. 0+15.30 0.7 50.7 40. 6 1.4 1.0 0.9 0.6
B : sNo.0+15. 30 50.7 1.4 0.9
Z : sNo. 0+15. 80 0.5 33.0 20.9 1.4 0.7 0.9 0.5
B : sNo.0+15. 80 33.0 1.4 0.9
Z : sNo.0+17.60 1.8 25.8 52.9 1.4 2.5 0.9 1.6
B : sNo.0+17.60 25.8 1.4 0.9
Z : sNo.0+18.70 1.1 17.5 23.8 1.4 1.5 0.9 1.0
B : sNo.0+18.70 17.5 1.4 0.9
Z : sNo.1+1.00 2.3 6.5 27.6 1.4 3.2 0.9 2.1
B : sNo.1+1.00 6.5 1.4 0.9
ZE : sNo.1+1.20 0.2 4.2 1.1 1.4 0.3 0.9 0.2
B : sNo.1+1.20 4.2 1.4 0.9
Z : sNo.1+3.20 2.0 1.9 6.1 1.4 2.8 0.9 1.8
B : sNo.1+3.20 1.9 1.4 0.9
Z : sNo. 1+6. 90 3.7 0.0 3.5 1.4 5.2 0.9 3.3
B : sNo. 1+6.90 0.0 1.4 0.9
Z : sNo. 1+7.90 1.0 0.0 1.4 1.4 0.8 0.9
B : sNo.1+7.90 0.0 0.0 0.0
Z : sNo. 1+10. 20 2.3 0.0 0.0 0.0
&t 30.2
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B : sNo.0 0.00 0.00
Z : sNo.0+1.90 1.9 0.00 0.00
B : sNo.0+1.90 2.80 2.20
Z : sNo.0+2. 20 0.3 2.80 0.8 2.20 0.7
B : sNo.0+2.20 2.80 2.20
Z : sNo.0+6. 70 4.5 9.20 27.0 8.60 24.3
B : sNo.0+6.70 9.20 8.60
Z : sNo. 0+7. 30 0.6 10. 40 5.9 9.80 55
B : sNo.0+7.30 10. 40 9.80
Z : sNo.0+8.70 1.4 13.20 16.5 12. 60 15.7
B : sNo.0+8.70 13. 20 12. 60
Z : sNo. 0+9.00 0.3 15. 40 4.3 14. 80 4.1
B : sNo.0+9.00 15. 40 14. 80
Z : sNo.0+11.80 2.8 21.40 51.5 20. 80 49.8
B : sNo.0+11.80 21.40 20. 80
Z : sNo.0+13.60 1.8 21.40 38.5 20. 80 37.4
B : sNo.0+13.60 21.40 20. 80
Z : sNo.0+14.60 1.0 21.20 21.3 20. 60 20.7
B : sNo.0+14.60 21.20 20. 60
Z : sNo.0+15.30 0.7 18. 40 13.9 17.80 13. 4
B : sNo.0+15.30 18. 40 17. 80
Z : sNo.0+15.80 0.5 14. 40 8.2 13. 80 7.9
B : sNo.0+15.80 14. 40 13. 80
Z : sNo.0+17.60 1.8 12.60 24.3 12.00 23.2
B : sNo.0+17.60 12.60 12.00
Z : sNo.0+18.70 1.1 10. 40 12. 17 9.80 12.0
B : sNo.0+18.70 10. 40 9.80
Z : sNo.1+1.00 2.3 5.10 17.8 4.80 16. 8
B : sNo.1+1.00 5.10 4.80
Z : sNo.1+1.20 0.2 4. 0.9 3.40 0.8
B : sNo.1+1.20 4. 3.40
Z : sNo.1+3. 20 2.0 2. 6.2 1.60 50
B : sNo.1+3.20 2. 1.60
Z : sNo. 1+6. 90 3.7 4.1 0.00 3.0
B : sNo.1+6.90 0.00
Z : sNo. 1+7.90 1.0 0.20 0.40 0.2
B : sNo.1+7.90 0.00
Z : sNo. 1+10. 20 2.3 0.00

at 30.2 2541 240.5
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No.1
B & i IO FR EL
WrEiEm2)| ITFE(m3) |WiEiEm2)| TFE(m3) | MrEiEm2)| 32 E(m3)
B : sNo.1+10.20 1.10 0.80 0.40
Z - sNo. 1+18.50 8.3 0. 50 6. 6 0. 20 4.2 1.70 8.7
B : sNo.1+18.50 0.50 0.20 1.70
Z - sNo.2+12.20 13.7 0. 40 6.2 0. 20 2.7 1.80 24.0

32. 17
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A= B R [Bakon BEm | mEEmD
B : sNo. 1+10. 20 0.80 0.80
Z : sNo.1+18.50 8.3 1.80 10.8 1.80 10. 8
B : sNo.1+18.50 1.80 1.80
Z : sNo.2+12. 20 13.7 2.00 26.0 2.00 26.0
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BELE I | co®
1:3 t=20 :
| . 3
= EDZ DS R 8
18-8-25BB =100 | /2/ 2
‘ 2
ARRE |
RC-40 t=150 740
2 M % = T
EMEEBIE XEKECED
EHBE 0.74 x 0.15 x 10.0 = 1110 | o 111
RC-40
Y-} 0.74 x 0.10 x 10.0 = 0.740 | m 0.74
18-8-25BB
L 24 0.10 x 10.0 x@ = 2,000 | 2.00
BEILSIL 0.54 x 0.02 x 10.0 = 0,148 | m 0.15
1:3
ELG LB 0.54 x 10 = 5400 | 5.40
AHHLIY1-L 600 (H) x 500 (B) m | 10.00




& 5 EERET aa-gag| BIXIYUTE lwpwel jonysy
EITOws
500 60 940 N
|
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} Lo
| || ®IOyY
| 500 x 500 x 90
760 sRaA O —Fk
‘ 18-8-25BB t=100
& = -t TR
gRavy-H (0.9440.76) x1/2x 0.10 x 10.0 x @ = 1.700 m 1.70
18-8-25BB
BRJOwsy 0.50 x 10.0 x @ = 10. 000 m 10. 00




OB R OH OB

2 Al T3 A - £ HEAH=E| #BHY
C2 ) g =X BEi| #% =
Eia=l]| (3.004+3.54) x 1/2 x 0.90 x 2.30 = 6.769 m 7
BR 6.769 — (2.00%x2.30x0.10 + 1.8x2.3x0.80) = 2.997 m 3
: Jm L8N 6.769 — 2.997 = 3.772 m 4
EmEEIF 2.00 x 2.50 = 5.000 m 5
HEiEmA 2.00 x 2.50 = 5.000 m 5.00
RC-40
Eidp 3 (1.804+2.30) x 1.00 x @ = 8.200
(1.504+2.00) x 0.85 x @ = 5.950
0.60 x 0.15 x @ = 0.360
A 0.60 x 0.50 x @ =A 1.200
it = 13.310 m 13. 31
E59:1) (3.50x12 + 4.00x6 + 2.80%x2 + 2.20x2
D13 4+ 7.80%x2 4+ 3.30x6 ) x 0.995/1000 = 0.11 t 0.1
fKFRIVIY-} 1.80 x 2.30 x 1.00 — ( 1.50%x2.00x0.85
21-8-25BB 4+ 0.60x0.50%0.15%x2 ) = 1.500 m 1.50




2 Al el H AN - FRAE BHHE| HpEfY
% ™ g = BEiIl #% 2
EHI (3.8143.00) x1/2x1.35%1.9+(1.0140.50) x1/2x1. = 7.829 | m 8
BR 7.829 — (2.00x2.00x0.10 + 1.90x1.80x1.25) = 3.154 | m 3
ERitasn 7.829 — 3.154 = 4675 m 5
HEEIE 2.00 x 2.10 = 4.200 | m 4
HEBERR 2.00 x 2.10 = 4.200 | m 4.20
RC-40
gy oA (1.90x1.00 4+ 1.50x0.85) x @ = 8.200
1.80 x 1.50 x 0.85 = 5.950
(1.80 + 0.15) x 0.25 x @ = 0.975
0.60 x 0.15 x ® = 0.540
A 0.60 x 0.50 x @ + 0.60 x 0.60 x @ =A 1.920
Hi = 13.745 | m 13.75
£330 (3.50x7 + 2.30x3 + 2.85%x1 + 3.85x%6
D13 + 3.25x2 4+ 1.80x2 4+ 7.00x2 + 1.10x6
+ 2.80%x3 + 1.70x2 ) x 0.995/1000 = 0.099 t 0.10
$kEHIV0Y-b 1.90 x 1.80 x 1.00 + 1.80 x 0.15 x 0.25
21-8-25BB — (1.50%1.60%0.85 4+ 0.60%0.50%x0.15x®3 ) = 1.313 | m 1.31
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2 Al EEYEUE L A -FRE| oo ) —bFEERL | EMa$=E| 1.0XXHY
C2 ) g =X BEi| #% =
o vy ) — MR
500 (H) x 600 (B) L=1.9m
500 (H) x600(B) 62kg/A 62 / 2500 = 0.02m3/A&
B250 t50 L1415
BEmaLoy—k 0.02 x 1.9 / 1.415+0.25x0.05x4x1.9 = 0122 | m3 0.1
|HaCU)—FBUEL
Eka Y U—+h B=780 t=100 L=1.9m
|B#E&E B=200 t=1120 L=2.1m
mEEa Lo — k 0.78 x 0.1 x 1.9 +0.2 x 1.12 x 2.1 = 0.619 | m3 0.6
RIEMR 0.122 + 0.619 = 0.741 | m3 0.70
B3 PR Bk km 7.40




